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There are a total of 26 questions and. five sections in the question paper. All questions

are compulsory.

Section A contains questions number 1.to 5, very short-answer type questions of

1 mark each.

Section B contains questions number 6 to 10, short-answer type I questions of

2 marks each.

Section C contains questions number 11 to 22, short-answer type Il questions of

3 marks each.
Section D contains question number 23, value based question of 4 marks.

Section E contains questions number 24 to 26, long-answer type questions of 5§ marks

each.

There is no overall choice in the question paper, however, an internal choice is
provided in one question of 2 marks, one question of 3 marks and all the three
questions of § marks. In these questions, an examinee is to attempt any one of the

two given alternatives.
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Que - A
SECTION - A

1. g 8faforg 3R g 3i9eq &1 ARR-gfaal § Furel 3fdX sy | 1

Write the probable differences in eating habits of Homo habilis and Homo

erectus.

2. HiX el & T H SIS & WM W CNG &l g it 99 & 7 @ 1
ELIELE

Mention two advantages for preferring CNG over diesel as an automobile fuel.

3. TR UyHaEl ¥ 16 A T T S SUR! AR H 82 TOHF T ¥ 1 TH HROU 1
AR |

A male honeybee has 16 chromosomes whereas its female has 32 chromosomes.

Give one reason.

4. THEN WHR R GEAC TIfUd A o < 3e9d I © 2 1

Mention two objectives of setting up GEAC by our Government.

5. MOET ¥ ‘sTafyres r' &t yfgert st ==t sifee | 1

Mention the role of ‘genetic mother’ in MOET.

Queg - B
SECTION - B

6. THMTITAYE 1 21 €2 SHh Hecd ey | 2

What is aminoacylation ? State its significance.
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TAIHEA H CFCs 3R SN & o9 TER a4 Tl S ST |
3AAqAT

i IYEH TR Waid -l Bid © ?

Explain the relationship between CFC’s and Ozone in the stratosphere.

OR

Why are sacred groves highly protected ?

I 1 S fogaiedl 8 Fhdl ¢ S99 gadSdtl S § § Y&E &I
Th-Teh IQTeL G §U ANAT il |

Gynaeceum of a flower-may be apocarpous or syncarpous. Explain with the

help of an example each.

ez 1 SISl M TR el S TG TGS & Ay 3Tcafess aeees |

T NN S U SATEAT HITST |

“Large scale cultivation of spirullina is highly advantageous for human

population.” Explain giving two reasons.

SFIAARRY % ST &1 99 TR | $ AW SaT95% HReE Fl HHT Sl ¢ 7

Name a genus of baculovirus. Why are they considered good biocontrol

agents ?
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11. (a)

(b)

(©
(a)

(b)

(c)

Qus - C
SECTION - C

o N

oe S 9fEsA (HGP) # 3dd ffe SH 9 ‘YACQ 3R ‘BACT ®

~

YV SR ‘B forush faw yga e €7 aRASH § 3Tt YfHe Jart |

gkl HFe S bl Yiqeraar faf@e sit 9eHl o1 fedt@d (hied) ]
T I @IS U 3T S ) gfaerddn o saeu ) e e ot fafeq € 99
fF HGP % 3RH <@ U

HGP ¥ o1kl g 989 T ‘SNP’ &1 qU-q0 T4 faf@u |

What do Y’ and ‘B’ stand for in YAC’ and ‘BAC’ used in Human Genome
Project (HGP). Mention their role in the project.

Write the percentage of the total human genome that codes for proteins

and the percentage of discovered genes whose functions are known as
observed during HGP.

Expand ‘SNPs’ identified by scientists in HGP.

12. 3TOON 3R AMYERl foshmg # X Sdel ]  Ycdeh hl Ush-Tdh 3€Tedvl <IfSu |

Differentiate between divergent and convergent evolution. Give one example

of each.

13. (a)
(b)

(a)
(b)

(a)
(b)

57/2

T Ay TRy w5 wiE 9r fafirednd saE)
3 1 STqwieR T iRl o AW FAEe S RIS i faeierdn
1 gfad L 2|

areram

el bt forfererar/ gt &1 T fRam fF9 IR oy 33 T 2
WY H TH A9 1 AT g © 2

List any four characteristics of an ideal contraceptive.

Name two intrauterine contraceptive devices that affect the motility of
sperms.
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(a)
(b)

14. (a)

(b)
(a)

(b)

15. (a)

(b)
©
(a)

(b)
©

OR
How does a farmer use the dormancy of seeds to his advantage ?

What advantages a seed provides to a plant ?

TE W ®Y F @ Wl © o 59 w= 1 A a=ed ® S A o
HRHU B ST §, B Wehdl & fh SToh! aashmeeen ¥ I8 U0 761 ol T
Zford H THT GfeRel o TR 1 SR Fdid g¢ SATEAT HifST | 38 YR &
Yfaeer 1 H §dsY |

TSI FI1 BId 8 7 SThT YfHeRT Famsy |

It is generally observed that the children who had suffered from

chicken - pox in their childhood may not contract the same disease in their
adulthood. Explain giving reasons the basis of such-an immunity in an
individual. Name this kind of immunity.

What are interferons ? Mention their role.

3 TERATA YSTA dehriieh] sl &l ST SIqieT Sl Heq gaeq 1 agen ot
g
geH JaEd o g e Sy |

T IS TSI SRl 39 fafy sl sAIfieh & WX 379/ Sl § |

Write the two limitations of traditional breeding technique that led to
promotion of micro propagation.

Mention two advantages of micro propagation.

Give two examples where it is commercially adopted.

16. WItHe IR fgdias o ehd # o JaEu| I &1 TH-Ush IS of fu |

Differentiate between primary and secondary succession. Provide one example

of each.
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Previous Pathshala




17. TRYE I AR Q BIfTehRer Goiy g1 Sl &1 uids § fret wmueft 1 w3
T FhRITs YR ey |

Predation is usually referred to as a detrimental association. State any three

positive roles that a predator plays in an ecosystem.

o

18. TSR feUriHs =l & IU=R § Usiga-gfaeened fafecn &t =men wifsq) 3
3 fafy & < THUE ARy

Explain enzyme-replacement therapy to treat adenosine deaminase deficiency.

Mention two disadvantages of this procedure.

19. (a) 9 fFOE dewi &1 230 6T goR Fd §2 T 3¢ ST | 3

(b) TWRAT dreh-Fam fafedi R suie oo & 3amg & ofa aarRt |

(a) How do organic farmers control pests 7 Give two examples.

(b) State the difference in their approach from that of conventional pest
control methods.

20. (a) SIAUENATHRT & FAN § HISGh1H Hem' s9R1 A ¥ T R H 3

hfeTaq I Th® ThR WAl Hidl § 2

(b) SEUENfTR FARN § Sty (i) 1w ofie saET|

(@) Why must a cell be made ‘competent’ in biotechnology experiments ? How

does calcium ion help in doing so ?

(b) State the role of ‘biolistic gun’ in biotechnology experiments.

21. (a) AT dFRI (Ha@eh) pBR322 H X0 Iy fagdsh o1 A ddy| TR 3
ftreRT &t ot ==t i

(b) W FA T FegAshl i ol § ToEH g Tl RS & HIfET STIHHA H

Teh o0 Ay TagAs A1 S &, i 2
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(a)

(b)

Name the selectable markers in the cloning vector pBR322 ? Mention

the role they play.

Why is the coding sequence of an enzyme B-galactosidase a preferred
selectable marker in comparison to the ones named above ?

22. TNl W F1 B € 2 TIY WY hi forumrHSEan &1 uar e 9 9 fRhy 7R

T ST ekl © 2

What is a test cross ? How can it decipher the heterozygosity of a plant ?

Qus - D
SECTION - D

23. 3T R H TH ok, foeifed gufd € S f.5d7 €)1 I8 S §:@ B §
IRaad # <ufd & .99 e & o St & 8 <ol 3euE S B

57/2

(a)

(b)
©

IRaes H 34 gRfefadl § 9 S &1 el St = /i S €2 379 9
Y& HIT | | T IS <L Jdis Sl Tk Sid T 86 84 & A 31
39 9IRS 938 Sl gL I e gieifed i |

el o foiw SRR ®ig &SR0T JarsT |

37 ufifeufaal # Sl 7e9 <t €, T qohdreh o1 gema Sifee fes <ufa =

Hafd 9T hid H HeIdl fAa 9o |

A large number of married couples the world over are childless. It is shocking

to know that in India the female partner is often blamed for the couple being
childless.

(a)

(b)
(©)

Why in your opinion the female partner is often blamed for such situations
in India ? Mention any two values that you as a biology student can
promote to check this social evil.

State any two reasons responsible for the cause of infertility.

Suggest a technique that can help the couple to have a child where the
problem is with the male partner.
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24. (a)

(b)

(©)

(a)

(b)

(a)

(b)
©

(a)

(b)

57/2

Qug - E

SECTION - E

3 T gfg Aiedl & M wqEy s gute ghg w1 ey w9 € a3
Aredl gAY f&fia gfg aski &1 M@ s= R |

T S5kl ol STRId H 3TH dTcl 3TaX 1 STYR AR |

3 AFE SHEE gig &1 890 I S aehl § ¥ dH-9 95k R 8l
T2 o1 F Wied € T 9 9% 9 @il STafY % o1 W Gkt § 2 3T
SR & A H HROT FqRT |

AT

BIe-4 dIeaTsl & 301 Tedl ¥ SR shiisiu fo 9fias & IR <&
Teh T i Hifd ol w1 Hid 82

e H qRft W aTelt W= el -ohl {he &l 7 fofEy |

Name the two growth models that represent population growth and draw

the respective growth curves they represent.
State the basis for the difference in the shape of these curves.

Which one of the curves represent the human population growth at
present ? Do you think such a curve is sustainable ? Give reason in
support of your answer.

OR

Taking an example of a small pond explain how the four components of
an ecosystem function as a unit.

Name the type of food chain that exists in a pond.

9 P.T.O.
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(a)

(b)

©

(d)

(a)

(b)

(a)

(b)

©

(d)

(a)

(b)

i § 3Tda Yo i SRAT HiIfST | 38 JE & S FAShrEl 3R
fafegedt gl & W &1 == FifS |

AT 1 YEhIT FTTEN 1 JERIGHET raeen ot =i Fed €7 e
RIS |

S ok T AR ITHh a% ATHN e § B ol SIS Sl AT
HITIT |

TTHT I 1 NG ST 991 IH TEeR (antrum) T fgdlas e o1
i hiTSTT |

SREN

Sta faam & T aftss faenelf g9 &% 9 eyl @1 T § % Sy et
T & kel TR & SELl o1 et @ freey X a3
Svafatfl el H W-TIET TRd: GHA W ST ST | 3Tk g gAY U
forferst =on st F= e do1 376 9§ I&® =00 & fu R ff JdEy|
Teh SAEatsi Qg sh & SIS HTH. hi FIS.H TG IARY, T ITH
HFad, GEHER, YUrhE- IR ey fgdiad (FHers) o1 " Hifa |

Explain the menstrual phase in a human female. State the levels of

ovarian and pituitary hormones during this phase.

Why is follicular phase in the menstrual cycle also referred as proliferative
phase ? Explain.

Explain the events that occur in a graafian follicle at the time of ovulation
and thereafter.

Draw a graafian follicle and label antrum and secondary oocyte.
OR

As a senior biology student you have been asked to demonstrate to the
students of secondary level in your school, the procedure(s) that shall
ensure cross-pollination in a hermaphrodite flower. List the different
steps that you would suggest and provide reasons for each one of them.

Draw a diagram of a section of a megasporangium of an angiosperm and
label funiculus, micropyle, embryosac and nucellus.

10

Previous Pathshala




26.

57/2

frefafad g (HRTT) &t STT{ERe e STl e Th 7l & dd a9
T SS9 ol S q91 FASR Sl Al W Sl shid foRan e 99 B, %
et WY T IR S s ol 91 g, F, SAie %1 @ qOia fear T
qo AL GEUT A 9 : 3 : 3 : 1 I gl |

S PEN

() TEFIFRY & JEdaEg TA &1 9uH ST 3Tk R 9T IR &
e @i ==l HITIT |

(b) HAfgeiis, Hedl Td Wl & INEH &R |

Give a genetic explanation for the following cross. When a tall pea plant with

round seeds was crossed with a dwarf pea plant with wrinkled seeds then all
the individual of F;-populations were tall with round seeds. However selfing
among F,-population led to a 9 : 3:3:1 phenotypic ratio.

OR

(a) Describe the series of experiments of F.Griffith. -Comment on the
significance of the results obtained.

(b) State the contribution of Macleod, McCarty and Avery.
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